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Systems: 4 points 2 from two different lines

Find the solution of the system of equations given 2 points from 1 line and 2

points from a different line.

Example 1: Line 1: (3, 7) & (-1, -5)

Step 1: Find the slope of Line 1 and Line 2.

Line1l .
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and Line 2: (2,-1) & (-4, 11)

Line 2
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Step 2: Find the y—intercept of Line 1 and Line 2.

Line 1
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Step 3: Write the equation of Line 1 and Line 2 iny = mx + b.

Line 1 Equation: V= 7 X + ~1T

s

Line 2 Equation: Y = -7 X £ 3

Step 4: Solve the system of equations by the substitution method.
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Example 2: Line 1: (-7, ~5) & (7, —19)
Step 1: Find the slope of Line 1 and Line 2.

Line 1
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and Line 2: (2, 6) & (3, 10)
Line 2
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Step 2: Find the y—intercept of Line 1 and Line 2.

Line 1
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Line 2
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Step 3: Write the equation of Line 1 and Line 2 iny = mx + b.

Line 1 Equation:

P s

Line 2 Equation: Y ~ ‘-I/( +-7

Step 4: Solve the system of equations by the substitution method.
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Problem #1: Line 1: (-6, 10) & (11, -7) and Line 2: (3, 9) & (-3, —9)

¢ Step 1: Find the slope of Line 1 and Line 2.
N Linel Line 2
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Step 2: Find the y—intercept of Line 1 and Line 2.

Line 1 , Line 2
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Step 3: Write the equation of Line 1 and Line 2iny = mx + b.

Line 1 Equation: y: ~ X+ L{ Line 2 Equation: )1 > 3 )(

Step 4: Solve the system of equations by the substitution method.
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Problem #2: Line 1: (0, —-4) & (5, 11) and Line 2: (3, -1) & (-5, —-17)

Step 1: Find the slope of Line 1 and Line 2. : e

Line 1 Line 2 N
-4~} Ny ~f ~~17 /6 |
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Step 2: Find the y—intercept of Line 1 and Line 2.
Line 1 Line 2
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Step 3: Write the equation of Line 1 and Line 2 in y=mx+b.
. Line 1 Equation: \Y/ :3 X" L){ Line 2 Equation: Y 21X F “7

Step 4: Solve the system of equations by the substitution method.
Sy - 9 = 3CY+77
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Problem #3: Line 1: (1, -2) & (-1, ~3) and Line 2: (7, -5) & (-5, 7)

Step 1: Find the slope of Line 1 and Line 2.
Line 1

Line 2
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Step 2: Find the y—intercept of Line 1 and Line 2.

Line 2
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Step 3: Write the equation of Line 1 and Line 2iny = mx + b.
- - V . \ - _5__ H H . f
Line 1 Equation: Yy L x 7% Line 2 Equation: v~ - X t L

Step 4: Solve the system of equations by the substitution method.
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Problem #4: Line 1: (12, 10) & (-8, —5) and Line 2: (7, 6) & (-5, —6)

Step 1: Find the slope of Line 1 and Line 2,

T,
i J

Line 1 Line 2

o= 3 5 §-76 17
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Step 2: Find the y—intercept of Line 1 and Line 2.
Linel Line 2
. . Gz iy +h
TS
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Step 3: Write the equation of Line 1 and Line 2iny = mx + b.

Line 1 Equation: Yy ﬁ X -+ | Line 2 Equation: ) — X+~

7

Step 4: Solve the system of equations by the substitution method.
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Problem #5: Line 1: (-1, -20) & (-1, —30) and Line 2: (12, -5) & (-9, —b)

, ( Step 1: Find the slope of Line 1 and Line 2.
" Line 1 Line 2
~76~-30 -5 0
' =1 > =0
- 0 [1~~9 21
Mo Slo F1¢

Step 2: Find the y—intercept of Line 1 and Line 2.

Line 1 ' Line 2
-C = o{~/) +4
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Step 3: Write the equation of Line 1rand Line 2iny = mx + b.
Line 1 Equation: X ~ e Line 2 Equation: v/ = -~ C
v e tical liag Awk’gm%’a{ li‘f\g

Step 4: Solve the system of equations by the substitution method.
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